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ELECTRICAL ENGINEERING (Paper-11)

1. Which block replacement algorithm is not generally used in cache operation:-
(@) LIFO (b) FIFO
(c) LRU (d) Random
2. The microprograms provided by a manufacturer to be used on his microprogrammed computer
are generally called:-
(@) Software (b) Netware
(c) Firmware (d) Hardware
3. The software that transfers the object program from secondary memory to the main memory
is called:-
(a) Assembler (b) Loader
(c) Linker (d)  Task builder
4. A major advantage of active filters is that they can be realized without using:-
(a) Op-amps (b) Inductors
(c) Resistors (d)  Capacitors
5. The order of convgence of Newton-Raphson method is:-
@ 1 (b) 1.618
() 2 d 4
6. If f(x) is a polynomial of degres, then A "f(x) is equal to:-
@ o0 (b)  Constant
(c) f(x+nh) (d) None of these
7. Newton — Raphson method is suitable in the cases where:-
(@) (x) is lage (b) (x) is small
(c) (x) is negative (d) (x) is positive

8. Value of 3[(1+x)(1-3x)(1+5x)] is:-
(unity being the interval of dérencing)

(@) -180 (b) -90
(©) -45 (d) 0
9. The relation between E and is:-
(@) E=1+ (b) E=1-
(©) E=1/ (d) E=1/ ?
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P AT Tb RUTaHT TolIReH ©F YTl FHEITA] WART F8! bl Sl 8i—
(@ LFO (b)  FIFO
(© LRU (d) Random

& AT gRT 31U AU 06 § TN o) @ forg A T Argeh! U

AT BEATT Bi—

(@) WHCRR (b) TERR

() &R d) =< TR

AR ST fgda Wi & g Ffa # sfeoiae WM RIMART dRdl 8, HEdrdl g
(@) 3R () =R

(c)  ferx d) TR fieex

Afhy fheer &1 9&F oM B & I FofUd fbd o |ad © 991 wainT dva—
(@) Op-amps (b) Wi

(c) o (d) enRaEl

JeA—w A # ifiRRer dife 2

(@ 1 (b) 1618

© 2 d 4

I f(x) n FIfE &1 9gus & A "f(x) R B

@ O (b) Rerid

(c)  f(x+nh) (d) T d P &I
e+ I fafy S vawen & ford Suyad § e

(a) (x) 318 & (b) (X) T &

(c) (X) FOTTHD & (d) ERISCIR

A(1+x)(1-3X)(1+5xX)] BT A9 B:—

(SPTS AqhAT BT A<RTA 2)

(@) -180 (b) -90
(©) -45 (d) 0

E ik A & dra awe -
(@) E=1+ (b) E=1-
(c) E=1/ (d E=1/ 2
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10.  The value of Bx? when the value of x vary by a constant increment of 2:-
(@) x*8x+16 (b)  x*+8x+16
(©) X2-8x+8 (d)  x*+8x+8

11.  ACK indicates reception of:-
(@) Correct data (b) Incorrect data
(© Insufficient data (d)  Sufiicient data

12. 8085 Microprocessor does not have:-
(a) Zeroflag (b) Parity flag
(© Over flag (d)  Auxiliary carry flag

13.  Which of the following is used for serial access storage only:-
(a) RAM (b) Magnetic tape
(© Magnetic disk (d) Core memory

14. The Runge — Kutta method of second order is nothing but:-
(a) Euler method (b) Taylor method
(© Modified Euler method (d) Improved Euler method

15.  Which byte of an instruction is loaded into IR register?
(a) Last (b) First
(c) Both of above (d) None of above

16. In an instruction of 8085 microprocessioow many bytes are present?
(a) One only (b) One orTwo
(c) Two orThree (d) One,Two orThree

17.  Zero address instruction format is used for:-
(@) RISC architecture (b) CISC architecture
(c) Von — Neuman architecture (d) Stack- oganised architecture

18.  Which bus is a bidirectional bus:-
(@) Address bus (b) Data bus
(c) Address bus and data bus (d) None of the above

19.  Which one of the following is not a vectored interrupt?

(@ INTR (b) TRAP
(c) RST3 (d RST75
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E2x2 &1 #19 Sidfd X BT A1 2 & ReR gig & gR1 uRafid siar g—
(@) x*8x+16 (b)  x*+8x+16
(c) X2-8x+8 (d)  x*>+8x+8

ACK f&hgadT UTed R &l Sfbd deal 8:—

(@) W e (b) oI STeT

() ST SeT (d) Wi S

8085 ATSHIURIAR H &l BIal T

(@) I T (b) IR werT

(€) 3R FerT (d) EERD B wrT
5§ i ool e B FRA @ for) vgad BT B

@ RAM (b) ge@IE U

() guoI & d) R FER

femréra I ger Yy I9ges &—

(@  wgor fafy (b) R ffy

(c)  wenfad ggew fafe (d) S=Td 3ger fafy
U e BT 19 A1 915e IR IR H IS qIar 77

(@) Last (b)  First

() Sudm < d) SuE H | P AE
8085 HISHIUR & Uh fasl H b arge AE 27

(@ @I TP (b) TR AT

(c) ‘rardm (d) U®, 31, a1 d=
U B [Ee b & forw uygad grar g

(@) R anfdcar (b) R nfhcaR
(c)  dAF—=gHA 3Mfdbcaar (d) H—3IRIAES 3Mfdhcar
T 9 B9 W 99 sfafeer o 2

(d) U I (b) < 9|

(c) Udl 99 U4 TIel 99 (d) SR A PIE e
71 % ¥ P9 TP daeR A T B

(@ INTR (b) TRAP

(c) RST3 (d RST7.5
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20.  The total number of pins in 8085 are:-

(@ 20 (b) 30
(c) 40 (d) 50
21.  Which of the following instructions have only one operand?
(@) Multiply (b) Add
(© Shift (d)  Subtract
22. In a microprocesspthe address of the next instruction to be executed is stored in:-
(a) Stack pointer (b)  Address latch
(c) Program counter (d) General purpose register

23. In 8085 microprocesspafter the execution of XRA instruction :-
(&) The carry flag is set
(b) The accumulator contain FFH
(©) The zero flag is set
(d)  The accumulator contents are shifted left by one bit

24. In 8085 microprocessor the contents of the accumulafter the following instruction
executed will become:-
XRA A
MVIB FOH
SUBB
(@ O01H (b) OFH
(c) FOH (d 10H
25.  Decimal number -4 is represented is 20ompliment form as:-
(@ 0100 () 1011
(c) 1100 (d 1010
26.  The instruction that exchanges stack — top with HL pair is:-
(& PUSHH () SPHL
(c) XTHL (d PCHL
27. In 8255, port C can work as 8 bit port in:-
(a) Mode 0 only (b) Mode 1 only
(c) Mode 2 only (d) None of the above

28.  The chip 825%\ is connected as peripheral I/The chip is selected when address lig®
A, are all 1, the address of control register is:-
€)) FCH (b) FDH
(c) FEH (d) FFH

29. TheADC that has maximum clock periods equal to number of bits is:-

(@) Dual slopeADC (b) Counter ram@A\DC
(©) Successive approximatid&xDC (d) Flash converteADC

ESE-09 ©6) Series-A



20. 8085 ¥ <rcd fUAl & dw=AT 2—

(@) 20 (b) 30

(©) 40 (d) 50
21. = # fpw fde & v 1@ aiRes B

(@ T (b) =T

(c)  IHRR (d) wem@

22, HISHURTER H ored 8F dTel 37Tel 3ae &1 Ugd Wfed fHar Smar g—
(@) Wh Ui H (b) TS o
(c) UM Bl (d) Mg I IR

23. 8085 HIgsIURTAR ¥ XRA A ¥ & W & ara—
(@) D T de BT B
(b)  UFgHelex FFH3fdfdse xar 2
() I HolT ¥T Bl &
(d) TIIHeIeR @ JA<TRGY U fde 9 wIraRd & il &

24. 8085 WISHIURNR H UghHeler @l Aiavqgu =1 ergaelt & fsred & arg grfl—

XRA A
MVIB FOH

SUBB

(@) O1H (b) OFH
(c) FOH (d 10H

25. 2's R IMBHR H SIAT F&AT -4 USRI &1 1l & oI fo—

(@ 0100 () 1011
() 1100 (d 1010
26. Y Sl HL ™ & Af2d h—<M &1 fAfg Har &—
(@) PUSHH (b) SPHL
(c) XTHL (d PCHL

27. 8255 U2 C 8fdc UId & ®U # &R &R Ahdl & §TH—
(@) dac AS 0 H (b) B AIS 1 H
(c) ®ad Ars 2 H (d) ST H F BT 81

28. 8255 A T URwxa I/0 @ TR HAfSTd & S € | fau & gafad fear Srar g o
A, AT 1R, A T ool U B
(@ FCH (b) FDH
(c) FEH (d FFH

29. U% ADC RTaadT fidhad dolid FHT el & I & a_IaR 8—
(a) g 9 ADC (b) B ¥ ADC
(c) HRIRa mifaRiHTE ADC (d) Wi dack ADC
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30. The 8259 programmable Interrupt controller in cascade mode can handle interrupts of:-
(a) 8 priority level (b) 16 priority level
(© 32 priority level (d) 64 priority level

31. Boolean expressiony + Z+Xyz +X z+ xyz can be simplified to:-

(@) xz+ z+yz (b) xz+ z+yz
(c) y + XyzZ + Xz (d) +Xyz + z
32.  The minimum number of NAND gates required to implement is equal to:-
(@) Zero (b) 1
(c) 4 (d 7

33. Decimal equivalent of the hexadecimal number E5 is:-
(a) 279 (b) 229
(© 427 (d) 3000

34. What overall accuracy could one reasonably expect from construction of a ADbit

converter?
(@) 0.1% (b) 0.2%
(© 0.3% (d) 0.4%

35. Ats =0, the torque of an induction motor is:-
(@) Zero (b) Equal to full — load torque
(c) Very high (d) Very low

36. The least expensive protection for over — current in low voltage system is:-
(@) Rewirable fuse (b) Isolator
(© Circuit breaker (d)  Air— Break switch

37.  TheAir — Blast circuit breakers for 400 k§¥ystem are designed to operate in:-
(@ 0.1s (b) 05s
(© 50 ms (d) 100 ps

38.  Which of the following circuits come under the class of sequential logic circuits:-
(@) Full adder (b) Full subtractor
(c) Half adder (d) J-K flip counter

39.  What are the output bit s (sum) and c (carry) of a Half adder havingArfiuand B=17?
@ 1,1 (b)y 1,0
(c) 0,1 (d 0,0
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8259 A UM 3o uad AuMl @7 # 9 st & 2fsel &R Adhdl 8-

(@) 8 IIIdr Wi (b) 16 IOIAT WR
(c) 32 TIA WX (d) 64 TIAT TR
JARM @SB xy +  zZ+Xyz + X Z + Xyz®HT IRAGI fHAT S AHAT g
(a) Xz + z+ yz (b) Xz + zZ+ yE
(c) y + Xyz + Xz (d) +Xxyz + z
DI AN B & fordl fhaw gAdqH =€ TIC &) Maegadr srfl—
(& ¥ (b) 1
(c) 4 d 7
gRITSRIA T E5 &1 S¥Meld Aaded 8—
(@) 279 (b) 229
c) 427 (d) 3000
T 10 fde A/D Ak & FHIVT F U JARId T9T Y&l Bl IHIE DI S [l oi—
(@) 0.1% (b) 0.2%
c) 0.3% d)  0.4%
S =0 WR IRV HIEX BT 30l BRIT—
@ I3 (b) IO AR AT & IR
(c) g e (d) 987 ®H
=1 areeT yomell # SfleR—dpR< Ha¥T B WHicTd YRaTl o
(@  Rarrfier v (b)  amgHTCIR
(c) fdbe Fax (d) TR 9% FHoll

400 & 91 Ried & fod 8aT <iRe Afde SH) &I fSomsd fear Sar & darferd 89 &
for 9g T B

(@ 01s (b) 05s

(c) 50ms (d) 100 ps
ffaRed afee 7 & o9 w1 fee gsfie de afee 2-—

(@) Yol I® (b) Yol subtractor
(c) e dnTd d)  JI-K flip Preex

TE A ASTd BT Meeye fAe s (@) 3R ¢ (@) a1 B e 399 A=1 3R B=1
T
(a)
(c)

1,1
0,1

1,0
0,0

(b)
(d)
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40. The motor normally used for crane travel is:-
(@)  AC slip ring motor
(b) Ward Leonard controlled DC shunt motor
(© Synchronous motor
(d) DC differentially compounded motor

41. What are the number of Memories required of size 16x4 to design a Memory of size 64x8 ?
(@ 2 by 4
() 6 d 8

42.  The device commonly used for triggering a triac is:-
(@) Diode (b)  Transistor
(c) Zener diode (d) Diac

43. The rm.s. value of a Half-wave Rectified symmetrical square wave currentigf-2A

€)) J2A (b) 1A
©  1W2A (d 3A
44.  In d.c choppers, per unit ripple is Maximum, when duty cyrles:-
(@ 0.2 (b) 05
(© 0.7 (d 09

45.  For separating the channels in FDM, one has to use:-
(a) Differentiator (b) Integrator
(© Band pass filter (d)  AND gates

46.  Modulation is Primarily accomplished to:-
(a) Produce side bands
(b) Mix two-waves of diferent frequencies
(© Improve transmission ffiency
(d)  Transmit audio-frequency signal over long distance

47. InanAMwave,V =10V andein=5V. The percentage of Modulation is:-

(@) 20.00 (b) 33.33
(c)  50.00 (d)  75.00

48.  Atype of chopper has a source voltegmad resistance R, and duty cycleFor this chopper
the rms value of the output voltage may be:-

(@) (b)
() VIVi1-a (d (1-o)lVv

ESE-09 (10) Series-A



40. @ ¥ T HIeR WEMG: Yge Bidl o
(@ AC Rem {1 AR
(b) TS oM @gles DC ¥ic #Alex

(c) JudIel HIex

(d) DC SH¥<ell HHEs AR

41, 64x8 WTZST B HARNT g1 BG fhaT 16x4 ASS B HARI AR~
@ 2 (b) 4
() 6 (d 8

42, TP I S 6 g @ fOTR SR H AR R Ugad &l Il 8-

() SHE (b)  EHRRER
(c) SR SHrS (d <&

43,  UP o 99 N Afd aieR 99 @ A9 2A € & RMS 99 8FTT—
@) A (b) 1A
©  142A d J3A

44, 100 AR H, 9T SH1E Rual ABad BN Sdfd SYCT Aigfbd g BEil—
@ 0.2 (b) 05
) 07 d) 09

45,  T®H S TH H Acll DI 3T B+ & fo = &1 STanT fhar i |@adr 28—
(@) fewvaRReR (b)  sfeirex
(c) d UM fheex (d)  AND Gates

46. WISYCH 9= wU 9§ A & @ ford fham e 2
(@) ATeS dd BT STE
(b)  faf=1 JmgRET @1 &1 &R BT ST
(c) TR &HaT ¥ FuR
(d) & O R AT MR Ahd FART BT

47. TS AM T HV__=10VIARV =5V ¥ | AIYeIeH &1 Yferd -
(a)  20.00 (b) 33.33
(c)  50.00 (d) 75.00

48. U® UHR BT WG dlecol V, AR YRR R 9T YT AEfhd €1 39 R & fid
dleedl BT TH—ATI—Hd (IRUAYH.) AN & Fhdl g—

(a) (b)
()  VIVi1-a (d (1-o0)lV
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The software used to drive microprocessor based system is called:-
(@)  Assembly language (b) Firm ware
(c) High level language (d) Basic interpreter instructions

How may switches are used to construct a ® 3- cycloconverter?
(@ 3 (b) 6
(c) 12 (dy 18

How many bits are used in data bus of 80857
(@ 7 (b)y 8
(c) 9 (dy 16

A register in the microprocessor that keeps track of the answer or result of any arithmatic or
logic operation is the:-

(a) Stack pointer (b) Program counter
(©) Instruction pointer (d)  Accumulator

Ready pin of a Microprocessor is used:-

(@) Toindicate that the pis ready to receive I/P
(b) To indicate that the u is ready to receive O/P
(c) To introduce wait states

(d)  To provide direct memory access

In which T-state does the CPU sends the address to memory or I/OALEsignal for
demultiplexing:-

(@ T1 (b) T2
(cp T3 d T4

is equivalent to:-
(@ A+ + (b) ABC

(© A+B+C (d A.B.C.

The figure of merit is minimum in:-
(@) 12L (b) NMOS
(© ECL (d TTL

In a thyristoy holding current is:-
(@) More than latching current (b) Less than latching current
(© Equal to latching current (d) Cannot compare with latching current

12) Series-A
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ATSHIIRNIR SMETRT GOl $15d B & ol SWATS fhar Ahcda’ Pl dl a—
@  arigel W (b) o R
(c) TS oidel TNl (d) BasicSTUCR AT

3¢ 9 3 WRBAGIR IH & ford fha-l f[ded HfSiar &1 smaegadn sri?
(@ 3 (b) 6
(c) 12 (d) 18

8085 BT U Sl 99 H fhd-l &1 SxddIel aidT 87
@ 7 () 8
(c 9 (d) 16

AZHIYRR H Th I/ReER Th (Arithmatic) 3R dd 3TRIA & SR BT S Rl B,
BHEAT T
(a) VWb ga®d (b) UM BRET

(c) 3TN ISP (d)  TaREICR

U HIZHIURIER & oy Y1 (Ready)0F &1 sHTel fhar SIrar &:—
(@) SYC U &R @ oy IR 8 &l q9Ifdl &

(b)  IMSTYE W &R & foly TIR B &I geIfam §

(c) Vel 3faReAT Bl AR] B & foly

(d)  Direct MemoryAccessUe™ &31 & oIy

CPUTHH T- 3@l # USIH &I H4RI AT $YC /3MIcYe H Holdl © 3R ALE Havd
demultiplexing@ forg:—

(@ T1 (by T2

(c) T3 d T4
TRIR T—

@ A+ + (b) ABC

(c) A+B+C (d A.B.C.

ART &1 afider =1 § =gAdq 28—
(@ I (b) NMOS
(c) ECL (d TTL

T IARRISR H Blfes die Bl a—
(@) IRt arT ¥ 1frd (b) T aRT & BH
(c)  IfRRT gRT & &RTER (d)  IfRAT aRT | FI TEN PR ADhd
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The PIV of a half wave rectifier circuit with a shunt capacitor filter is:-
@ 2v (b) V

m m

€ V,/2 @ 3V

The ripple factor of a Power supply is a measure of:-
(a) Its filter efficiency (b) Its voltage regulation
(© Diode rating (d) Purity of Power output

In a three phase half wave rectifieach diode conducts for a duration of:-
(@  30° (b) 60°
(c) 120° (dy 180°

A step up chopper hél/SS as the source voltage apdas the duty cyclélhe output voltage
for this chopper is given by:-

(@ Vv 1+ ) ) VJ/(@1-)
(c) Vs(l-) (d) None of these

In single pulse modulation of PWM inverténird harmonic can be eliminated if pulse width
is equal to:-

@  30° (b)  60°
(c) 120° (d) None of these

In dc chopperthe waveforms for input and output voltage are respectively:-
(@) Discontinuous, Continuous (b) Both continuous
(c) Both discontinuous (d) Continuous, discontinuous

If in a rectifier the ripple voltage is 150 nand the dc value is 15then ripple factor is given
by:-

(& 0.01 (b) 0.02

(c) 0.001 (d) 0.002

If two ends of rods are to be welded, the method of welding is:-
(a)  Spot welding (b) Projection welding
(© Seam welding (d) Butt welding

A three phase diode bridge rectifier is fed from a 4804S, 50Hz, three phageC source.
If the load is purely resistive, then peak instantaneous voltage is equal to:-

(@) 400V (by 400 V
2 400
(c) 400 gv (d) e Vv

14) Series-A
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TC FUIRA fheer Jad T o TR faedRl uRuer &1 PIV 8RTT—
(@ 2V () V

m m

(© V_/2 d) 3V

m

BT UTeR |erg B1 ST o fhad! SR BRar B

(@) fhoex @1 qeraT & (b) Ao AT @1

(c) SHIS P ST Bl (d) fria wfea & ggar &1
T Hwen o a0 ReadR) # e Srs fhail fafy & fory =me) Y8dr &—
@  30° (b)  60°

c) 120° (d) 180°

U Ils AR BT FGid diec o] ngﬁwsﬁﬂﬁﬁﬂ o 2| S9dT fFTd dleest 8lT—
(@ V(1+) (b) VJ(@1-)
(0 V() d) ST ¥ Pl T

PWM S9acR & Udhel Ued AIgelRM H JARI BRANG $I FHI [BAT ST Feball 2 Il

T AT BIf—

(@) 30° (b) 60°

()  120° (d) =T A P TR

frdll ey AR # el don frefd diecst &1 a1 & Uafa saer 8Ril—
(@)  3ad, |dd (b) THT Had

(c) T 3rad (d)  <ad, I:gad

Pl feesr # Aga dreest 150mV SR oo A 15V €, a1 AYe IO BRT—
(a) 0.01 (b) 0.02
(c)  0.001 (d) 0.002

o B @ a1 RRI & Sed @ ford afesT o) fafy &—
(@) wIe dfesT (b)  UoTERE dfeeT
(c) < afesT (d) 9 afesT

e de S g fAedN 400V RMS, 50Hz,Bider wer wid & Tifdd grar g1 afk
IR g UfREN § a1 RRaR &fore dlecsl aRIaR 5

(a) 400V (b) 400 V
2 400
(c) 400 \E v @ FV
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67. In a 3-ph bridge inverter with 180° conduction, the number of switches that are ‘on’ at any
instant of time is:-

(@ 1 by 2
() 3 d 4

68. A 1-ph full bridge inverter can have load commutation only if the load is:-
(a) R-L (b) R-L-C underdamped
(c) R-L-C overdamped (d) R-L-C critically damped

69. A 3-phinduction motor under dc dynamic braking work as:-
(@) Induction generator (b)  dc generator
(© dc motor (d)  synchronous generator

70. A chopper circuit is operating arRC principle at a frequency of 2kHz on 28Gupply If
the load voltage is 184%he on time (En) and of time (Toﬁ) of chopper are respectively:-

(@  T,=0.3msecT ,=0.2 msec (b)  T,=0.38 msecT _.=0.12 msec

(c) T,=0.2msecT ,=0.3 msec (d)  T,=0.4 msecT _,=0.1 msec

71. The number of terms in a logic function of three variable¥, %, are:-
(@ 3 (b)y 4
(c) 8 (dy 16

72.  Which of the following is an invalid state in 8-4-2-1 Binary coded Decimal counter:-
(@ 1000 (b)y 1001
(c) 0011 (d 1100

73.  Which of the following is a sequential circuit?
(&) AND gate (b) NAND gate
(© Bistable multivibrator (d) EX-OR gate

74.  The output X of the OR gate show in figure is:-

1
1 X
1

(@ 1 (b)y 2
(cp O (d 3

75.  The Boolean expressi#gn(A+B) is equal to:-
(@ 1 (b) B
(© A (d A+B
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180° Il A & AT U Prhell AY uciius H bl w7y Reafdr R el &1 = &t
A B, T

@ 1 (b) 2

() 3 d 4

TP el dHell Ul A Uciiud H dadt 9R fGguiRac= 8 daal ¢ Ifa 9R 2—

(@ R-L (b) R-L-Cargdfea

(c) R-L-CaffoHfea (d) R-L-Cwifded #diea
TP FHHar IR Hiex feen s oIReE § B &Rl 8, Sii—

(@) IR A== (b)y feem Sf=

(c) faar #Aex (d) JIHre S

T FOR gRU 230V U W 2kHz @1 agfd .k TRC gl W g=mferd € | Ife 9R
dlecS 184V B, T AR BT M F7 (T, ) 3R 3 &7 (T ) BT T
(@) T,,=0.3 msecT =0.2 msec (b) T,,;=0.38 msecT =0.12 msec

(c)  T,=0.2msecT .=0.3 msec (d)  T,=0.4 msecT _.=0.1 msec

I W X, Y, Z, difoTe 2oid | ual feb i 8-
(@ 3 by 4
(cp 8 (d 16

X - e
8—4—2—1 fg—amum) Bfed <IMalg i & fA= § | o9 W) <9 3@ 27

A

(@ 1000 (by 1001
(0 0011 (d 1100
TTH 9 D9 AT Aidaf~aad gRuer g

(@) AND e (b) NAND e
(c)  dTS¥Cde AcclaTgsicy (d EX-OR7e

forar 9 <9 ™ OR I &1 fA7d X &:—

@ 1 (b) 2
(cp O (d 3

gferad aSd A (A+B) TR T

@ 1 (b) B
) A (d) A+B
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76.

7.

78.

79.

80.

81.

82.

83.

84.
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If the J-K Flip flop’s output is zero, then in order to change its output to 1, the input combination
is:-

@& J=0,K=X (b) J=1,K=X

(© J=X,K=1 d J=X,K=0

How many 3-line to 8-line decoders are required for a 1 of 32 decoder?
(@ 1 (b) 2
(c) 4 (d 8

The outputy of the logic circuit given below is:-

(@ 1 by 0
() X (d)

When a BJT is used as a switch, its mode of operation switches between:-
(@) Cut-off and active regions

(b) Cut-off and saturation regions

(c) Active and saturation regions

(d) Different operating points in the active region

The most suitable gate for comparing two bit is:-
(&) AND gate (b) ORgate
(© NAND gate (d) EX-OR gate

Which of the following finds application in pocket calculator?
(@ TTL (b) CMOS
(© ECL (d) Both (a) and (c)

Which has the lowest propagation delay time?
(@ ECL (b) TTL
(c) CMOS (d) DMOS

De Momgan’s second theorem is:-

@ A. =0 (b) =A
(c) = . (d) =+

The minimum number of NOR gategA+ ) (A+ +C)required to implementis equal to:-
(@ O (b) 3

() 4 d 7
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76.  Ifa J-K fru—verma &1 FRTd T 2 dl 39! Feid 98 &R 1 & & forg fHaeh
A g

X (b)

1 (d)

77. 1 9 32 fShIeR & U 3—a87 ¥ 8—ag+ fhad fSarexl &1 mazadhdar g—
@ 1 (b) 2
(c) 4 (d) 8

78. 9 A & do uRuer &1 ffa Y g—

@ 1 (b) O
€ X (d)

79. W@ Ud BJT &1 Reaa &1 e Ugad 8l @ ol a8 Rad 8N—
(@) Hc—aiK iR Afka & H
(b)  PHc—aifh 3R HIT e |
(c) fka iR Hgfia &= 4
(d) afpa a3 # s offfeT fag

BB \
o 80. Wj@mﬂw%%%_
(b) @R

TS e

(c) s e (d) TR e
81. ¥ # & B9 A1 Oig deAqeick H Adad Ul g—

(@ TTL (b) CMOS

) ECL d) @ (a)aR (C)
82.  fbd # \a & B9 UrdReH <0 wHI BRA?

(@) ECL () TTL

©) CMOS (d) DMOS

83. foARTH @1 fgdia uR&e T—
@ A. =0 (b) —A
(c) = . (d) = 4

84. U T |HIaRT A (A+ ) (A+ +C) T AN &1 & ol HH—H PA fdba-t NOR e

P SR BII—
(@) 0 (b) 3
(c) 4 (d 7
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In a 6 bit Johnson counter sequence, there are a total of how many states or bit patterns?

@ 2 (b)
c) 12 (d)

6
24

The most powerful solid state microwave device is:-

(@  GUNN diode (b)
(c)  MESFET (d)

IMPATT diode
Varactor

The following wave does not exist in wave guides:-

(a) TE waves (b)
(c) TEM (d)

TM waves
TE & TEM

The characteristic Impedance of a lossless transmission line is given by:-

Z=\CIL

Z=LC

50
2

Decreases

(@ Z= (b)

() Z=uc (d)

The characteristic impedance of a cable is about:-
(@) 300Q (b)

() 5 (d)

As frequency is increased, the skifeet:-

(@)  Increases (b)

(©) Remains the same (d)

The most noise immune system is:-
(a SSB (b)
(© PDM (d)

Either (b) or (c)

PCM
PWM

Human ears can detect sound intensity of order of:-

(@  10*W/nr (b)
€  10BW/m? (d)

108 W/m?
108 W/m?

An AM wave is given by s(t) =20(1 + 0.5 cos*16- 0.3 cos 1. cos 1&), the modulation

index of the envelope is:-
(@ 05 (b)
(c) 0.3 (d)

0.58
0.8

A phase locked loop (PLL) is a feedback circuit consisting of a:-

(@) Phase detector (b)
(c) VvCO (d)

(20)

Low pass filter

All of the above

Series-A



85. ©: fidc & ST dreex # fha-n Rfet ar fae 92+ e
@ 2 by 6
(c) 12 (d) 24

86. g9 TGS ST IaRAT HIghIdd feared g—

(a) A SHIS (b) 9T SES
()  #uwe d) R
87. B W TN, JSS H AN A& B T
(@ TEW@T (b) TM T
(c) TEM (d) TEIRTEM

88.  QIYRfEd WORUl 89 & ART UfIEmEm &I AT 8-

@ 2zZ= (b) zZ=\ciL
) z=Juc (d z=LC
89.  Ud pfdcl & faoyar ufdamem o gdr 2—
(a) 300Q (b) 50
() 5 d 2
90. I JAGNY g S 8, I el YHTd —
L (@) e b) T
(c) fRerEd? (d (D)3 (c) I BE h
91. e SUTST IR UfaReNd yoTmel) g—
(@ SSB (b) PCM
(c) PDM (d PWM

92. A4 & B fha+lr digdr & &afyy BT udl o dAhd g—
(@  10*W/m? (b) 108W/m?
(©)  10BW/m? (d)  10%W/m?

93.  U®d UM WUEH Adhd AT 2 s(t) =20(1+0.5 cos £@+0.3 cos 14. cos 16), fordmrd &1
Higele aHid BNTT—
@ 05 (b) 058
(c) 03 (d) 0.8

94.  UH AR 4 U (PLL) UHh Hrsdd yRue B, Rt B g—
(a) =R IR (b) o N fheex
(c)  dr=a. (d) SR |l
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96.

97.

98.

99.

100.

101.

102.

103.

104.
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An antenna has a resistance of 5@nd an equivalent noise resistance of 30he noise
figure in decibels is:-

(a 1.6dB (by 2dB
c) 3.6dB (d) 6dB

A carrier is modulated by two modulating waxesnd B having modulation index of 0.6 and
0.8 respectivelyThe overall modulation index is:-

@ 10 (by 0.7
(c) 0.2 (d 14

In transistor radio receivethe number of IF amplifier stages are:-
(@ 1 (b) 2
() 4 d 6

For an ideal 3000Hz channel, S/N ratio is:-
@ 3 (by 15
(c) 4 d 2

A waveguide section in microwave circuit acts as:-
(@) Low pass filter (b) Band pass filter
(© High pass filter (d) Band stop filter

WhichTM mode in rectangular waveguide has lowest ctifrefjuency?

(@ TMy, () T™

© TM, d T™

01

21

AlinehasZ=300 Q.IfZ =150 Q, reflection codicient is:-
(@ 05 (b) 0.333
(c) -0.333 (d) -05

Which of the following lines is non-radiating?
(a) Open two wire (b) Co-axial
(© Both of the above (d) None of the above

Which of the following devices uses a helix?
(@) KlystronAmplifier (b) Klystron Oscillator
(© TWT (d) Both (a) and (b)

A 6-pole, 50Hz, 3-phase induction motor has rotor resistance of 0.25 ohm and develops the
maximum torque at 875 rprhe rotor reactance and slip at the maximum torque respectively
are:-

@ 2 ,0.125pu (b) 2 ,0.25pu
(c) 1 ,0.25pu (d) 1 ,0.125pu

(22) Series-A



95. U TSHT H 50 T UfoRi 3R 30 T U SRTaR ¥R IR 8 | SUed d IR

JNHST BITT—
(@) 1.6 dB (b) 2dB
(c) 3.6dB (d) 6 dB

96. Ud 918 & IR A Td B 9§ HUED © (Sl Aigel gabid B9 0.6 Ud 0.8 B | AT
Ager™ qadHid BNTT—
@ 10 b) 0.7
() 02 (d 04

97.  SIforer fear RAaR & fhdw IF TRllBRR =R 81 8—
(@ 1 (b) 2
(c) 4 (d 6

98.  ATEI 3000 Hz TTel &1 S/N 3TUTd BIIT—
(@ 3 (by 15
) 4 d 2

99.  ¥g&H % uRuY H A AfTdT B FRel 8-

(@) o U™ fiheex (b) §vs U fheex

(c) T’ U fheex (d) §v8 WU fheex
Qo 100. JMIAHR ITMZS & fhd AGA. Al &) de—ih MMIRT =g=aH grf?

(& ™M, ) ™,

(© TM, @ ™,

101. U% @ B1Z,=300 Q ®13dRZ=150 Q & dI ufcifd= Tories -
(@ 0.5 (b) 0.333
(c) -0.333 d -05

102. o9 O fog ar 4 fafexor =& g 27

(@  Gefl &1 AR (b)  ProaRvEr

(c) SWIad Ml | (d) SR BIE el
103. 379 & fra o= ® geford aswar &1 yanT g 27

(@)  FEIRCIIUT THYGIHTIR (b)  FIRERIV AR Tetex

€ A= d) <M ()R (b)

104.  U& 6—¢d, 50Hz el UROT Hex ol Aex UfRMT 0.25 3719 & 3iR 875 rpm TR I=aaH
AT BT HRAT 8 | IeaaH Jo—ATgol TR RIex U 3R QU0 HHer: 8-
(@) 2U,0.125 pu (b 2U,0.25pu
(c) 1U,0.25pu (d) 1U, 0.125 pu
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107.
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109.

110.

111.
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The field excitation of 20A results in a short circuit armature current of 400A and open
circuit terminal voltage of 2000\ an alternatoiThe magnitude of the internal voltage drop
within the machine at a load current of 200A is :-

@ 1V (b) 10V
(c) 100V (d) 1000V

What is the ratio of starting torque and maximum torque of a 3-phase, 50Hz, 4-pole induction
motor when the maximum torque occurs at 1200 rpm?

(a) 0.384 (b) 0.421
c) 05 d) 06

A balanced three phase induction motor runs at slip ‘s’. IS]‘ is the synchronous speed,
what is the relative speed between the stator mmf and the rotor mmf?

@ s b)  (1-s)
(© s (d) Zero

The supply voltage to a 3-phase induction motor is reduced by 10 percent. By what percentage
will the maximum torque decrease?

(@) 12.1% (b)  19.0%
) 21.0% (d)  40.0%

Wde speed control range of three phase squirrel cage induction motor is obtained by:-
(@) Variable voltage constant frequency control method

(b) Slip power recovery method

(© Pole changing method

(d) Constant voltage to frequency ratio (V/f) method

A 6-pole, 3-phase alternator running at 1000 rpm supplies to an 8-pole, 3-phase induction
motor which has a rotor current of frequency 2 He speed at which the motor operates is:-

(@) 1000 rpm (b) 960 rpm
(© 750 rpm (d) 720 rpm

A synchronous motor is operating on no load at unity power fattiwe field current is
increased, the power factor will become:-

(@) Leading and the stator current will decrease
(b) Lagging and the stator current will increase
(c) Lagging and the stator current will decrease
(d) Leading and the stator current will increase

(24) Series-A
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U IATcIHer B excitationd 20A I 39 IS Afbe fhT MR H 400A &RT TT
Yol TRepAT H el diecsl 2000V <l & | 7 & AR 3Tw<iRe dlecs RRMEE &1
A 200A €RT TR BHT—

(@ 1 de (b) 10 drce
(c) 100 dlee (d) 1000 dree

e e, 50Hz, 4—gd URVT HAIeR YRS el—aMTgUl 3R Ioadd qe—3Meu] BT &l
31Ut 8 Sfafes STaad dei—smmeel 1200rpm W wfed Bar 8-

(a) 0.384 (b) 0.421

c 05 d) 0.6

TP Hferd et URUT HIeR WU 'S’ WX Feldl € | IfQ goAdlel AT ¢ B, ol Wew
Fa1d. 3R A ard. & 4 JueT Arel a1 22

@ s b) (@9
© ) v

S

T el URUT HIeR &I Y& dlecol 10 UTerd =il Sl 8 | Seadd ga—aArgof fdha
gfcrerd T ©c SIRATT?

(@) 12.1% (b)  19.0%
) 21.0% (d)  40.0%

e fISR URoT Aer &1 faxga ot FEEr w_ urd fhar Sar @ e @ gRe—
(@) =R diees ReR gfa =T fafe

(b) U wfd geuT fafd

(c) ¢a uRqd+ fafdr

(d) drees 9 amgfa Rer erguma (VI fafdr

TP 6—¢d, el UTace 1000 IU.MA. TR =kl U Udh 8—gd fdball URUT HIeR &l
3Mgfet o B | fore ex o7 @ Mafy 2Hz B | ared R WR AR yeErferd g

(@)  1000Tu.M. (b) 960=TUM.
(c)  750TuM. (d) 720TuM.

TEh Jeadlell A} YA YR W & Afdd Ui IR YaTferd & &7 2, Ife & ORI 9l
ST ® d wfad O 8 SR

(@)  SEIH 3R e URT T
(b)  UTIHI 3R R °RT g
() YT IR WX oRT T
(d) SR @R WX oIRT de7l
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112. A synchronous motor is operated from a bus voltage of 1.0 pu and is drawing 1.0 pu zero
power factor leading current. Its synchronous reactance is WHhptiis the excitation emf
of the motor?

(@ 05 (by 1.0
(c) 15 (d 2.0

113. Damper in a lage generator is used to:-
(a) Increase stability (b) ReduceVoltage fluctuation

(c) Reduce frequency fluctuation (d)  Allabove

114. A 10 poleAC generator rotates at 1200 rprhe frequency oAC voltage in cycle per second

will be:-
(@ 120 (b) 110
(c) 100 (d) 50

115. Speed of a repulsion motor at No load is:-
(@) Low (b)  Verylow
(© High (d) Dangerously high

116. What is the ratio of No-load speed to full load speed of a 200 k¥ pole, 220\3 phase,
60 Hz synchronous motor?
@ 1 by 11
(© 1.21 (d) Infinite

117. The motor used in household refrigerators is:-
(@) dc series motor (b) dc shunt motor
(© universal motor (d) Single phase induction motor

118. Anideal transformer does not-change:-
(a) Voltage (b) Power
(© Current (d) None of the above

119. The slip of an induction motor normally does not depend on:-
(@) Rotor speed (b)  Synchronous speed
(© Shaft torque (d) Core-loss component

120. Skewing is used in induction motors in order to reduce torque due to:-
(@)  Time harmonics (b)  Space harmonics
(© Slot harmonics (d) Reverse rotating fields

121. Which type of motor is most suitable for computer printer device?
(@) Reluctance motor (b) Hysterisis motor
(© Shaded pole motor (d)  Stepper motor
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U JeAdIell HIeR 1.0 US. 99 dlecsl ¥ Yelferd 8ial & AR M IR Wfdd 0T &1
1.0 0 30 ©IRT of Y&l 2 | HIcR &I I«iod fAard. /g7

(@) 0.5 (b) 1.0

() 15 (d 2.0

Th g8 S-ReX § SR &I SUATT Bl 8i—
(@) Rerar o1 gfg 4 (b) Al b AR TG Bl HH BT H
() Mg & IAR @ed Bl HH & H (d)  SWRIad a4

TEH 10 Uil AC SIFREX 1200rpm TR FHAT & | Ui Adhve =sh § AC dlecsl @l Mgfd
BRf—

(@) 120 (b) 110

(c) 100 (d) 50

U gfapyor Arex @Y 97 9t R T gefi—

(@) ®H (b)  9gd ®H

(c) S (d) WS I

T 200 ALY, 12 UId, 220 dl, 3 Hell, 60 Bo ol Jedbleld HICR BT IRT AR (A & oy

Td Pl HR &I TA BT U R 87
() 1 (b) 1.1
(©) 1.21 (d) 8=

TR P IfBoRex H UYad B dTell HIeR -

(@)  SIALse HeR (b) I AR

(c) IFTHe AR (d) TP el IRUT HICR
U ey gRMAS F8l dgadl Bi—

()] dlec Sl (b) orfe

(c) orI (d) SWRIGd H A B3 78l
UROT HIex Bl JYo7 JrEr=gadr R T8 arar g—

(@ X A W (b)  Goudrel @St

(c)  ¥Mhe -3l R (d) Pls—eIf ged W

7 gRT ga—ameel g™ & for) URUT ARl H RIS YN B IR o

(@) Y BTHI T (b) g gD

(c) IIC BMI-aT (d) gopa g &=
P UBR &1 Alex FFgeR fier e & forg w9 ifde Sugad 27
(@)  Ufse™T AR (b) R AR

(c) JI=sIfad ga AR d) VR AR
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122. In a circle diagram of a three phase induction motor the point where tangent to the circle is
parallel to the horizontal line represents:-
(a) Maximum torque (b) Maximum output power
(©) Maximum input (d) Stator loss

123. In a split phase motpthe ratio of number of turns for starting winding to that for running

winding is:-
(@ 20 (b) More than 1.0
(© 1.0 (d) Lessthan 1.0

124. A3 , 3stack, variable reluctance step motor has 20 poles on each rotor and statbinstack.
step angle of this step motor is:-
@ 3° (b) 6°
(c) 9° (d) 18°

125. Which of the following is an unexcited single phase synchronous motor?
(@) A.C. series motor (b) Reluctance motor
(© Universal motor (d) Repulsion motor

126. A 3-ph, 60 Hz induction motor runs &30 rpm, its synchronous speed is:-
(@) 1300 rpm (b) 1500 rpm
(© 1200 rpm (d) 1000 rpm

127. The common type of servo motor isfdient from normal induction motor as it has:-
(a) Lower rotor resistance (b) Higher rotor resistance
(© Higher power rating (d) Larger inertia

128. When a 3-phase alternator is suddenly short circuited at its terminals, the initial value of
short circuit current is limited by which one of the following?

(@)  Subtransient reactance (b)  Transient reactancg,’

(© Synchronous reactange (d)  Sumofx,", x;', andx,

129. The domestic mixer uses an electric motor of type:-
(@) Universal motor (b)  Shaded pole motor
(© Synchronous motor (d) Induction motor

130. The rotor power output of three phase induction motor is 19K rotor copper loss at a
slip of 4% will be:-

(a)  600W (b)  625W
(c)  650W (d)  700W

131. The change in speed of ag3induction motor from No load to full load is about:-
(@ 4% (b) 8%
(c) 15% (d) 50%

ESE-09 (28) Series-A



122.

123.

124.

125.

126.

127.
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T el URUT Aer & ga o | a5 e ga w® it Y@ &8s orsd &
FAMR &, TaRid oxar 2—

(@) ST g3l (b) SwaH i wfe

(c) S=aad faw (d) wex g

T OIS el HICR H, o6 PR dlell g Tl dlell aIsiST bl gHTal Bl AT B
31U BRIT—

(@ 20 (b) 1.0 ¥ 31D

(c) 10 (d 10w &H

T e, 3 W IR YR WY Aley H e ek 3R Wex Wb H 20 g9 2|

HIex BT U DI g

(@ 3° (b) 6°

(© 9 (d) 18°

71 5 ¥ DI Th I Ul RO Jeddbliold AlCY §7

(@) T Wl STl HieR (b)  SIfFI=BT HIeR

(c) ECREAECN) (d)  gfHyoT Aex

T et 60 Hz UROT Alex 1150 AU, TR FoIdl B, ! Joddiell e gi—
(a)  1300Tw.M. (b)  1500THfH.

(c)  1200Tw.M. (d) 10007y

AT YBR BT FaTHIeR AFE IR Hiex I O~ 8 Rife 399 8-
(@) R e R (b) TR e UfRE
(c) Swuax v AferoT (d) s Sed

T4 U@ el YAmadd 3 o RIRE W oy uRufda gar © ar ofg uRuer @l
RS gRT FEfGRT F=7 # 71 § B R a=ar 27

(@) el wfaard (b)  &fore uferd x,'

(©)  Jeddren ufdemd x, d) X", %'3R x_ BT I

Vel AT 9gd Are’ WA dRadl o

(@) ARG AR (b)  afENRd ga HeR

()  Jegsrell AR (d)  UROT AR

U e IR Aiex &1 Iex i oifdd 15kW B | 4% [Y91 TR, Jex a8 8-
(a)  600W (b)  625W

(c)  650W d)  700W

T fAhell UROT AIex B T H Y R UG gU 9R BT Ry 3§ e geaa grm—
@ 4% (b) 8%
€  15% d)  50%
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A three phase induction motor taldesampere on full load at a power factor of gosThe
component responsible for producing magnetization is approximately:-

(@ Asin (b) Atan
(c) Acos (d  A/cos

Synchronous motor can run at:-
(@) Leading power factor (b) Unity power factor
(c) Lagging power factor (d)  Anyof above

As the load on a synchronous motor is increased, the torque angle:-
(@) Increases (b) Decreases
(c) Remains same (d) None of these

If a dc series motor is connectedG supply then:-
(@) It will not run (b) It will run
(© It will burn out (d) It will pulsate

Which type of connection is employed for current transformers for the protection of
star delta connected 3-phase transformer ?

(a) Delta — Delta (b) Star-— Sar

(© Star — Delta (d) Delta — Sar

The relay used for protection of high voltage a.c. transmission line against power swing is:-
(a) Instantaneous overcurrent relay (b) Impedance relay
(© Mho relay (d) Reactance relay

The restriking voltage in circuit breaker is measured in:-
(a) RMS value (b) Peak value
(© Instantaneous value (d)  Average value

The most suitable circuit breaker for interrupting short line fault without resistance switching
is:-

(a) Minimum oil circuit breaker (b)  SF6 circuit breaker

(© Bulk oil circuit breaker (d)  Air blast circuit breaker

Which one of the following is not a routine test of a circuit breaker?
(a) Short circuit test (b) Dielectric test
(© Thermal test (d) DC resistance voltage drop test

What is the approximate value of thegaiimpedance loading of a 40QK3/phase, 50Hz
overhead single circuit transmission line?

(@) 230 MW (b) 400 MW
(c) 1000 MW (d) 1600 MW
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g M AR AR T UG HREb cos W IO @6 R A THURR oIdl & | gaded &
IR @ foIv RTIER Ucd BN o TT—

(@  Asin (b) Atan

(c) Acos (d) Alcos

JeddTel AICX DI IS ST bl 5

(@) Sl wfdd Ui WX (b)  Uehdl wfdd Yolib WX
(c) U= wfdd Yolih W (d) SWIGd # I DIg
I iy GodeTell HIeX TR WR 97T ST & o7 ST SO Bior—
(@) 9¢ I ® (b) EC ST ®

(c) SO & XBaT 8 (d) 79 9 P &l
Ife fedr de WS Arer &1 vl gwE 9 s fear o dn—

(@) d8 =& "o (b) g8 @erT

(c) 8 SIel S (d) T8 Qe BT

CR—Scel FAIRNT Bde TRBHR & GReT & oy {59 UeR & FANM gRT RIBRER]

@ fory wanT {6y i 2°?

(@) S-Sl (b) WR- TR

(c) wWR-Sl (d) Sw-TR

Tfd ReT & favwg Sea dlecsl Uel YRVl dA1s+ &l GRell & fo ugad Rel 28—
(@)  drclfeld IMfaaRT Ret (b)y  ufcEmrr Re

(c) ¥ Ra (d) ufcema Rar

gRuey ST # G FIRfhT aiecst AT ST oo H—

(@ gHH 9+ (b) RrER A=

(c)  dwrefrs A (d) oI 9=

T ufeRty Rafir & &g a1 |9 @1 e & oy Jaq Sugad aRue fGareid g
(@) AT Aot gRuY faaeTd (b)  SF6 uRuy faarci®

(c) 99 ddf uRuy faarers (d) g <R gRu s
frfeRaa # o9 a1 aRue faarss & Fafia weor 72 87

(@) g uRu Rleror (b)  URTIRI URjeTor

(c)  TTURT TRIETur (d) feor ufoR drecst urd uRlefor

& 400 KV Br@etr 50 gcot RRUR Udhal gRY URYY A1 & Fol Ufaamer IR &7 A1
R T—

(@ 230 MW (b) 400 MW

(c) 1000 MW (d) 1600 MW
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142. How many relays are used to detect interphase fault of a three phase system?
(@ One (b)  Two
(c) Three (d) SiX

143. Circuit breaker is used for which of the following:-
(@) Voltage control (b) Power control
(c) Frequency control (d) Over current protection

144. Which is preferred type of C.B to be installed in EHV system?
(@ Vacuum C.B. (b)  Air blast C.B.
(© Bulk oil C.B. (d) None of these

145. If the fault current is 2008, the relay setting is 50% and dtio is 400 : 5, the plug setting
multiplier will be:-

(@ 25A (b) 15A
(c) S50A (d) 10A

146. In an open ended line, the reflection d¢mént of current is:-

@ © (b) 1
() -1 (d)
147. Resistance switching is normally employed in:-
(@)  All breakers (b) Bulk oil breakers
(© Minimum oil breakers (d)  Air blast breakers

148. In an Indoor substation for 220 kie circuit breakers will be of the type:-
(@ ol (b)  Air break
(c) SF6 (d) Vacuum

149. The term critical clearing time in protection of Power system is related to:-
(a) Reactive power limit (b)  Steady state stability limit
(© Short circuit current limit (d) Transient stability limit

150. The rate of rise of restriking voltage depends on:-
(a) Resistance and inductance of the system only
(b) Inductance of system only
(© Capacitance of the system only
(d) Inductance and capacitance of the system only

151. A relay with inherent directional characteristic is:-

(@) Mho relay (b) Impedance relay
(© Reactance relay (d) Differential relay
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TP fdar TF & A<Idall QY Udl HRA & ford fhad Rt v 8i?

(@ (b) <

c) &= d @

gRuer faasTes &1 vt fohd & fordy fasam Sirar 8~

(@)  dreear = (b)y wfda f=or

(c)  amgfa o (d)  SrfceIRT e

EHV d3 § & & ford fre daR &1 aRue faares it Sugad &7
(a) f7afa C.B. (b) 9 <Re C.B.

(c) g dfera C.B. (d) SR d A Py &l
Ife TIY grRT 2000 A 2, Ret AfET 50% 2 3R CT AU 400 : 5 & I @ AT orich
BITT—

(@) 25A (b) 15A

(c) 50A (d) 10A

ol R aTell 18 9 RT &1 WRIaa [ond g—
(@ O (b) 1
) -1 (d)

gfoREN Rafei Arm=Iaar W § ofls Sl 8—

(@) N faarSTaT # (b) Fob Ao faASTRT #

() =AdH A faaeTeT 3 (d) Ig-—<Re A~ 9

U fdard] qe—IE H 220 kV & forv uRuer farers foa yar &1 8rm—
(@ T (b) @y faAE

(c) SF6 (dy fara

BB FAIRT Y TH A TF B GReT H FHIEd o

(@)  ufcrrna wfdd A & (b) Rerrazern @ dHr A
(c)  <Tg uRu arT HMT A (d)  efors werfia AW |

RETEHT diecs & 9 &l &R R el 82—
(@) Dad dF D URR IR IRbd

(b) D IF D RHA W

(c) Ddel dF B! TIRAT W

(d) DI dF D Red AR TIRAT W

rI+fed <fRre arfieerr 3 gaa Rel &:—
(@) =R (b)  ufdamm R
(c) ufcrma Ret d) N Rer
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152. Loss of excitation in an alternator can be detected by using:-
(@) Earth fault relay (b) IDMT relay
(c) Reactance relay (d)  Offset Mho relay

153. In a circuit breakerthe time duration form the instant of the fault to the extinction of arc is

known as:-
(@) Total clearing time (b) Operation time
(c) Protection time (d) Recovery time

154. The making current of a 3-phase circuit breaker with rating 2008, N8kV will be:-
(@) 35 kA (b) 50 kA
(c) 70 kA (d) 89 kA

155. If the percentage reactance of the system upto the fault point is 20% and the dase kV
10,000 then the short circwA is:-

(a) 10 MVA (b) 20 MVA
©) 50 MVA (d) 60 MVA

156. Impedance relay can be used for:-
(@) Earth fault only (b) Phase fault only
(©) Both earth and phase fault (d) None of these

157. Merz — Price Protection is used to protect:-
(@) Transmission line and transformer)  Transformers and generators
(c) Motors only (d)  Transformers only

158. For a fault at terminals of the synchronous gener#terfault current is maximum for a:-
(@) 3 — Phase fault (b) 3 to ground fault

(c) Line to ground fault (d) Line to line fault

159. Athree —phase, 33kl circuit breaker is rated for 12@0 2000 M\A, 3s.The symmetrical
breaking current is:-

(a)  1200A (b)  3600A
c) 35KkA (d)  104.8 kA

160. A thermal protection switch provides protection against:-
(@) Over — load (b) Under voltage
(c) Short circuit (d)  Over —voltage
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152, Udh JITadd H S Bl &R S Fdhd & TANT HRPp:—
(@) &N Rd (b)  IDMT Rei
(c)  ufcrmd Ret (d) emmde =/ Ra

153.  Up uRuY faaeie & 19 & &9 ¥ s fAdide db & T9I RTel hadldl g—
(@) B FARIRT qHI (b) U= AT
(c) IRET FHY (d) Y i 993

154.  fHAT 2000 MVA, 33 kV &1 et uRuer fafSarere &1 AfeT aRT &1 719 8Fm—
(@) 35kA (b) 50kA
c) 70KkA (d) 89kA

155.  Ife fodll Tt wiee fa=g d& ufomra ufoend 20% 2 T Base kWA 10,000 & AT SH®T

org uRuer VA g—
(a) 10 MVA (b) 20 MVA
() 50 MVA (d) 60 MVA

156.  gRie=T Rel &I Ugad fBa1 &1 Fahal g—
(@) Dda N Hlee H (b) I Bl Blee H
(c) 31 Wlee AT Bl Biee AT - (d) S99 9 IS Fal

157. ¥ U9 UICaad [bAd! GRe & ford vanT fhan Sir &i—
(@) URYU ATSH TAT R &l (b)y uRonfam dem SIf== &t
(c)  Ddel AR Bl (d)  ®ae aRonfa= BT

158.  JeIBIAl SRS & - 0R U QN & oy, QY ORT 69 & foy aifdeaq &—
(@) 3—TR TN (b) 3R F U TN
(c) <39 | TS~ Iy (d) ET & @89 ]9

159. U fAdbell 33 kV, 3=el ulRuer faarsie &1 AT 1200A, 2000 MVA, 3s 2 | FAGT sfhT

gRT Bi—
(@)  1200A (b)  3600A
) 35kA (d)  104.8 kA

160. U ol Hxervl Red 91 & fawg GReEm U el 8-
(@) <If® ore (b)  3=R drecdl
(c) g yRuer (d) e dees
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161. Using Eulets method, the value of y after 1st iteration for théedsntial equation

:y2-x2, with y=1 when x=0 and h=0.1 is:-

(@) 1.0
(by 1.1
(c) 1.2

(d) Cannot be obtained due to inscient data
162. The circuit shown is:-

v, —F

R
Rf
L
(@) Inverting amplifier (b) Non — inverting amplifier
(c) Voltage to current convertor (d)  Voltage follower

163. A unit positive step is applied at the input of the circuit shown bdltier 15 seconds, the
outputV | will be:-

€
M 10V
Vin e—nn i Y
1 —10v °
(@ -15V (b) 15V
€  -10V d) 10V

164. For the following analog simulation, the dynamic equation is:-

Y 11T [Il 5

@ y-y-y=0 (b) y+y-y=0
© y-y+y=0 d y+y+y=0
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TqeR &1 A BT TANT PR 3adhel THIHROT %zyz-xzyzl S x=0¥fed 3k h=0.1
AP y BT A IS 3eTH P 918 8-

(@) 1.0
(b)y 1.1
(c) 1.2

(d)  IMUAT IfhS! & HRUT UK el [haT I Al

eI T gRuey gi—
Vv, —F
R
éRf
£
(@  GohAT YD (b)  IrIHAU Yaeid
€ dieew W uRT IRad® (d)  deest e
I <ol T 9RuYy & 99 W T SHE gHG g WA fBAT S 21 15 Habs 919

feefer v g

18F

| (
I\

IMé

+10V
Vin '—W—f‘;%—o V,
0

—10v

(@ -15V (b) 15V
(c) -10V (d 10V

frforRad Jeoey saR @ foy s S e 28—

.o _y y
Y I3 Hl/ 3

0 (b) y+y-y=0
0 d y+y+y=0
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Which one of the following methods is used for numerical integration?

(@) Newton Raphson method (b)
(©) Trapezoidal rule (d)

Lagranges method
None of above

For solving equation®>3x+1 = 0 by Newton Raphson method, the initial gues%ia@,mext

estimate )l<WiII be:-
(@) 0.212 (b)
(c) 0.40 (d)

0.333
0.425

An op-Amp has a slew rate of 5¥k.The lagest sine wave o/p voltage possible at a frequency

of IMHz is:-
(@) 10V (b)
(c) -5V (d)

To fit y=ab‘+b in linear form is:-
(@) y=cx+a (b)
() y=ax+c (d)

5V
5/2 V

ay=cx
y=x where x=X

Interpolation is a technique of estimating the value of a function for any:-

(@) Minimum value of a variable (b)
(c) Maximum value of a variable (d)

Intermediate value of a variable
None of these

A differential amplifier has a dérential gain of 20,000 and CMRR=80dhe common

mode gain is given by:-

@ 2 (b)
(c) 12 (d)

1
2.5

An ideal diferential amplifier has CMRR equaling:-

(@) Unity (b)
(c) (d)

-1
Zero

Using Runge — Kutta fourth order method, the approximate value of y when x = 0.2, given

that =x+y &y=1, whenx =0 is given by:-
€)) 1.3428 (b) 1.2428
(c) 1.2421 (d) 1.4345

: T . dy y tany
The general solution of the tkfential equatlon—xz;+ S Is:-
(@) sin (y/x)=c (b)  sin (y/x)=cx
(c) cos (y/x)=c (d)  cos (y/x)=cx

(38)
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foeferRaa fafdrat & | @19 @1 ofifhd THIdA & o’ TN & Wl 8—
(@) A YHHd fafy (b) RS @ fafd
(c) HeH I (d) SRIGT H A BIg 78T

HIRROT X3-3x+1 = 0BT e N fafer & &af ¥ & oy uRfAe ergamx = 0 & o
3ATAT bl X, BM—

(@  0.212 (b) 0.333

(c) 0.40 (d) 0.425

Udh Gfshardd Uaeld &l slew rate obV/ 4 s & A a9 g1 SIT a™¥T 9 diecl,

1MHz 3gfd oR FIfdd 28—
(@ 10V (by 5V
(c) -5V (d) 5/2 V

G 997 H y=abr+b 3H g—
(@) y=cx+a (b) ay=cx
(c) y=ax+c (d)  y=xwhere x=X

BRI B fhd qoa & iR wvar 8 gea—
(@) uRaceld @1 &F A=/ Hed (b)  uRacTeld & 7eH qed /A
(c) uRacaTela @ weT 931 /e (d) 8 ¥ Py el

U Ug Uaefd Bl X 19 20,000 & T2 CMRR =80db,dl 31 Ars & g8R—
@ 2 b)) 1
© 12 d) 25

Tdh e 9T Yausd b1 CMRR fhas _R1aR 8—
@ U» b) —Ts
(c) 3 d g3

Runge — Kutta®T Igeiend fafe SuanT @xas, y &1 ST A 8F1 o9 x = 0.2, f&ar

FWNE =x+yARy=1Tdx=075—

(a) 1.3428 (b) 1.2428
(c) 1.2421 (d) 1.4345
sier e =Yy BY o e < 2
dx x X
(@) sin (y/x)=c (b)  sin (y/x)=cx
(c) cos (y/x)=c (d)  cos (y/x)=cx
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Which of the following formula is most accurate for numerical integration?
(@) Simpsons rule (b)  Trapezoidal rule
(©) Weddles formula (d) Gausss Quadrature formula

The value off [dxdy/(Q(L+ x? + y?)¥2) whereQ is the region %y* 1, x20, y=0 is:-
@ nl2 (b) 12(1- )
(c) nl2 (1+ ) (d) nl2

The diferential equatior?t  (t)+t Y (t)+(t>+n?)y(t) = 0 is called:-
(@) Fouriers equation (b) Laplace equation
(c) Bessels equation of index n (d) Hamiltonian equation

Effective address is calculated by adding or subtracting displacement value to:-
(@) Intermediate address (b) Relative address
(©) Absolute address (d) Base address

If two stages with noise figure Bnd F, and gains G& G, are cascaded, the resultant noise
F will be:-

(@  F+F1)/G, (b)  F+(F1)G,
©  (F-1)/GHF, (d)  (F-1)/G+F,

The input resistancei Rnd output resistance0|®f an ldeal current amplifier in Ohms are:-

(@) oando (b) 0 andwo
(c) and o (d) and

If the input to an antilog amplifier is x, the output is proportional to:-
O (b) €
(c) In x (d) e
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174, 99 A # 9 B A1 GF GCIHS THIHOT B oY A EI g

(@) Rigas &1 | (b) v TGS s
(c) dsd &1 g (d) I &7 FErgaR g
175. &7 99 T BT | Safb U &3 x%+y?<1, x=0, 3R y=0 faar
-
@  n/2 (b) A )
(c) nl2 (1+ ) (d) 712

176, foam T faoime FAHROT 2 (1)+t Y ()+H(+m)y(t) = O HET ST B—
(@) IR B FHHIT (b) TAT FHIBROT
() 99 TR Ra q@ard n g (d) et |

177.  UMTE] TS &1 A9 A (a1 SIA1 & 11 BT faRemus #19 | Siie 3fefar geM uRi—
(@) TP TsE (b) WO Tgw
(c) FrRUer vsH (d) 3R Tgd

178. TR fg—aRor {1 AR sMdel F, 3R F, 3R 19 G, 3R G, & &I dds fBA1 S
g I SHPT IRV R F 8FT—
Bidady/ QL+ + ¥8)°) F+(F1)/G, (b)  FAF-1)/G,
(C) (Fl' 1)/ GZ+F2 (d) (Fl- 1)/ Gl+F2

179, 31Yc URRIY R 3R 3Areeye UfaRe R TH MMeel 8T THABIER BT BT HAeh —

(@ o03Ro (b) 03R w
(c) 3R o (d) 3R
180. Td antilog TIHRR &I STYC X © O SHBHI ASHeyc AU aFl—
(a) eIn.x (b) e
(c) In x (d) ex
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